Math 125 Quiz 3 Spring 2017 Name:

TA: Reynolds Trifunovski Zheng Discussion Time 8 9 10 11

1. You are given the following system of linear equations.

dr — 6y =8
r—2y=1
(a) (2 points) Identify appropriate matrices A, X, and B to rewrite the system of equations in the
form AX=B.
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(¢) (8 points) Use A~! together with the equation AX=B to solve the system of equations.
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2. (4 points) Suppose A=[3 0 1

Use the Gauss-Jordan method and the rref function on your
21 1

calculator to compute A=, Show both your inital and final appended matrices. You do not need to
show any work.
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3. You are given the following system of linear equations.

3x—-3y+z=3
—2r4+2y—2=1
—dx 45y —2z2=10

(2) (2 points) Identify appropriate matrices A, X, and B to rewrite the system of equations in the
form AX=B.
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